20164 1) 1—RX Ay 7 AU

No. HaH #EF—L  [650mifE A () [450mIfE A% ()| [EIUREE (%)
1 3A128 HEEFM 3,049 398 104.0
2 3A198 A 2,337 383 1140
3 3A27H S 2,646 254 100.0
4 4A6H J11i 1,440 192 87.0
5 4/ 108 a2 2,900 412 108.0
6 48 30H B iF 3,359 471 97.0
7 5H8H GRx 5572 723 96.0
8 5821H JUE 5171 486 88.0
9 5H825H 1IEFM 1,816 190 95.0
10 68118 = 5,402 498 98.0
11 6H258 Sif 4,567 461 100.0
12 7A9H pi:[e] 4,061 417 107.0
13 78178 1= 5,251 579 96.0
14 7A30R FERIR 5813 547 104.0
15 8A6H = 4,661 483 98.0
16 8A20H & 4,909 516 97.0
17 98108 2HE 5273 647 99.0
18 9A 258 S 6,754 623 104.0
19 108228 AR 6,018 795 94.0
20 11A3H /N 4,148 558 101.0

A&t 85,147 9,633 99.4




20154 1) 1—RX Ay 7 EURE

No. HaH #EF—L  [650mifE A () [450mIfE A% ()| [EIUREE (%)
1 3A 148 HEK 2,874 469 99.0
2 3A22H A 3,375 352 101.0
3 3A28H N 2,340 245 98.0
4 4H8H S 966 242 92,0
5 4/ 188 R 3,494 286 94.0
6 48 29H FERIR 5,615 481 93.0
7 5A6H Ltz 6,455 785 93.0
8 5816H 1= 3,173 315 100.0
9 5827H pi:[e] 1,572 208 98.0
10 5A30H B iF 4,464 488 100.0
11 6A7H £2HE 4,278 530 101.0
12 7A118 B S 6,640 702 95.0
13 78198 S 4,911 418 105.0
14 7A29A8 Gz 4,135 514 96.0
15 8H12H AR 7,421 878 96.0
16 8A22H /N 4,835 746 98.0
17 9R2H AR 1,907 229 103.0
18 98128 1&IEFM 5,772 517 94.0
19 9H26H JUE 5277 478 99.0
20 1087H Gz 1,824 226 101.0
21 108178 VAN 7,148 921 92.0
22 11A7H piilE) 4,318 543 101.0

a&t 92,794 10,573 97.7




20144 1) 1 —R Ay 7 EIURE

No. HaH #EF—L  [650mifE A () [450mIfE A% ()| [EIUREE (%)
1 3A8H GKRR 2,399 489 97.1
2 3A23H S 3,009 451 103.7
3 4A2H £2HE 1,501 220 92.9
4 4A6H HEEFM 2,776 368 98.5
5 4A168 B F 1,261 164 91.5
6 4820H = 4,244 339 100.1
7 5868 = 5,542 524 93.1
8 5A6H EK 6,470 640 97.7
9 5827H 2HE 3,862 538 96.5
10 5H824H AR 4,131 479 101.8
11 7A 238 FERIR 4,182 371 95.6
12 8H2H CKHx 8,006 743 98.6
13 8H16H = 7,099 729 94.0
14 8A23H S 6,356 756 98.4
15 98138 1= 5,525 485 92.8
16 9H23H AR 6,939 780 98.4
17 10A5H JUE 3,143 414 95.2
18 10A18H B iF 4,650 406 93.2
19 11A2H S 4,817 506 96.1
20 12H6H s BEICKYI12A8B NI Y Yh—REDT7 LTHIE

=]

ANE

a

_I_

85,912

9,402

96.6




20134 1) 1 —RX Ay 7 EUNE

No. HaH #EF—L  [650mifE A () [450mIfE A% ()| [EIUREE (%)
1 3A9A IN= 4,855 59 1035
2 3A208 X5 2,299 94 98.3
3 3A308 K 5,490 750 102.4
4 483H CKHx 1,055 157 95.5
5 4/ 108 RS 1,190 153 83.9
6 48208 TR 3,475 412 94.1
7 5868 = 3,863 361 94.8
8 5868 B iF 5,625 454 97.3
9 5A27H N 5,711 531 96.5
10 7A6H = 5818 1,515 99.1
11 7R 138 FERIR 7,013 650 90.0
12 7A31H CKHx 4,474 391 95.3
13 8A3H EK 6,730 553 90.9
14 8H24H JUE 8,379 765 915
15 8H28H 2/ 4,276 434 100.5
16 98148 = 8,780 1,144 97.6
17 10A5H St 5,065 655 99.5
18 108278 pi:[e] 3,512 657 104.4
19 118238 1= 5,471 808 985
20 12H7H 2HE 3,000 699 98.5

A&t 96,081 11,242 96.7




20124F 1) 1 —R Ay 7 EIURE

No. HaH #EF—L  [650mifE A () [450mIfE A% ()| [EIUREE (%)
1 3A178 XE 3,712 326 96.0
2 3A318 GKRR 2,188 294 101.9
3 4A7H HEEFM 2,312 448 97.5
4 4R 18H A 1,535 182 96.7
5 4HA288 & 7,056 622 91.7
6 5868 FERIR 5,138 563 96.5
7 5868 2/ 5,160 368 95.5
8 6868 BEE 2,229 127 90.2
9 5827H EK 5,764 620 86.5
10 6H278 XE 1,813 161 101.3
11 6A30R B S 9,506 702 95.2
12 78148 AR 10,033 813 50.7
13 8H4H = 7,458 813 85.1
14 8H18H /N 9,523 957 95.0
15 9A1H CKRx 6,210 492 89.4
16 9829H 2HE 4,575 335 96.8
17 10A6H = 5,383 340 99.5
18 108278 St 4,428 404 95.9
19 118178 JUE 3,066 395 95.8
20 12A1H FL#R 2,857 519 91.4

A&t 99,946 9,481 92.4




20114 1) 11— Ay 7 EURE

No. HaH #EF—L  [650mifE A () [450mIfE A% ()| [EIUREE (%)
1 48248 2 5,795 275 95.5
2 5A3H AR 7,234 375 89.4
3 5H148 A 4,847 265 100.8
4 6H118 /N 5816 282 96.6
5 6H188 & 7,142 406 95.9
6 68250 CKHx 5274 408 98.4
7 5A6H Ltz 7,293 553 95.6
8 7868 B iF 4,201 231 97.7
9 5827H JUE 7,745 534 95.9
10 8H6H EK 13,654 1,054 94.6
11 8H14H AR 10,886 689 92.1
12 8H24H = 4,262 1,119 96.0
13 9A 108 S 6,593 582 95.6
14 98 28H EK 2,469 232 95.7
15 10A1H 1&IEFM 4,724 280 96.4
16 10A23H & 5,643 214 100.8
17 118198 Gz 3,666 344 92.3
18 12H3H 2HE 4,258 363 98.2

A&t 111,502 8,206 96.0




20104 1) 1 —R Ay 7 AU

No. HaH #EF—L  [650mifE A () [450mIfE A% ()| [EIUREE (%)
1 3A13H 2/ 3,481 - 97.0
2 3A318 & 2,094 - 100.5
3 4A3H XE 3,636 - 97.4
4 4/ 108 R 8,022 - 98.0
5 48248 IN= 4,566 - 100.0
6 5A5H 1IEFM 12,045 - 99.0
7 5A6H Ltz 7,791 - 101.0
8 5H26H RER 2,504 - 100.0
9 5827H = 3,790 - 93.3
10 7R1780 CKHx 8,753 616 97.5
11 7A318H FERIR 9,585 727 93.9
12 8H17H EK 7,202 567 95.8
13 8H21H JUE 9,555 712 101.3
14 9A11H Gz 7,841 586 97.2
15 9A 198 RER 6,102 305 935
16 108178 2HE 6,291 339 93.2
17 10A31H S 5,147 497 948
18 11148 = 3,153 443 90.0
19 118238 1= 2,638 442 99.5
20 12H4H pi:[e] 3,209 489 99.3

a&t 117,405 5,723 97.1




20094F 1) 1 — R A7 AU

No. HaH HEF—L {3 A () B4 (%)
1 3A15H S 5,380 97.8
2 3A29H 2/ 2,783 99.7
3 4R4H HEEFM 4,903 975
4 4A188 /N 6,272 98.0
5 48 29H FE 7,833 97.0
6 5858 2/ 9,962 97.1
7 5868 = 4,510 97.1
8 5H823H EK 5377 100.0
9 5827H 1IEFM 4,308 97.7
10 68138 Ko 3,339 94.5
11 6H828H 2HE 8,808 97.5
12 78118 JUE 11,111 96.6
13 7RA26H (1157 10,122 96.6
14 8A1H = 7,228 97.6
15 8H19H Gz 7,833 88.6
16 8A22H RER 7,982 106.0
17 9A19A N 5,078 103.0
18 108178 AR 8514 96.7
19 118218 = 2,730 97.8
20 12A5H FERIR 4,025 97.3

a&t 128,098 97.7




20084F 1) 1—R A7 AU

No. HaH HEF—L {3 A () B3 (%)
1 3A15H FERIR 5,872 97.8
2 3A20H = 4,054 975
3 4A2H BS 3,809 98.1
4 4A168 X5 3,659 91.3
5 4819H RER 5,259 91.8
6 48 29H RIREV 8,651 99.2
7 5A6H EK 8,641 94.1
8 58108 2/ 6,199 923
9 5827H 1IEFM 6,873 97.0
10 6H828H JUE 9,582 102.0
11 7A5H 2HE 10,420 96.5
12 7R 168 FE 8,824 97.9
13 7A278 FL#R 9,553 97.8
14 8H16H N 9,769 96.1
15 98148 = 9,239 98.5
16 9A 23R = 6,278 98.1
17 10H4H 1&IEFM 6,802 97.1
18 108258 AR 8,136 92.9
19 118238 = 4,498 92.2
20 12H6H Gz 3,289 93.5

a&t 139,407 96.1




20074 ) 1 —RX Ay T EUNE

No. HaH HEF—L {3 A () B3 (%)
1 3A11H K 4,399 92.8
2 3A21H S 4,117 97.7
3 3A318 J11i 3,988 92.4
4 48118 B iF 4,117 97.7
5 48148 GKRR 4,419 97.8
6 4828H 1IEFM 8,512 96.0
7 5868 B iF 7,341 97.8
8 581980 BEE 6,472 98.1
9 5827H 2HE 5,598 97.7
10 6898 = 6,985 96.3
11 68208 1&EFC 8,926 97.8
12 6A30R /N 9,110 975
13 8H15H 2HE 13,934 95.0
14 8H26H EK 13,875 95.4
15 9A18 FE 10,558 97.9
16 9A816H = 11,806 96.1
17 10H6H = 11,806 96.1
18 10827H 2ZH 5,252 95.6
19 118108 FERIR 5,077 97.7
20 12818 N 5,306 98.4

a&t 151,598 96.6




20064F 1) 1—RX A7 EUNE

No. HaH HEF—L {3 A () B4 (%)
1 3A11H FERIE 9,352 945
2 3A21H 2/ 5,509 97.0
3 3A298 AKX 1,990 96.7
4 4A2H /N 5,152 97.9
5 4A158 £2HE 7,673 98.1
6 4H30H Gz 12,587 98.1
7 5A6H EK 12,607 98.7
8 5A18H FE 7,486 97.0
9 58278 = 10,185 98.7
10 78198 AR 12,276 96.1
11 7H26H B S 10,868 95.5
12 8A12H FE 14,368 96.8
13 8H19H JUE 12,622 94.4
14 8H26H N 12,743 96.3
15 9A2A B iF 9,809 101.3
16 9H23H 1&IEFM 4,573 92.8
17 10A14H RER 7,017 99.8
18 10A28H & 7,296 98.8
19 118198 CKRx 6,033 97.2
20 12H2H = 3,317 100.2

a&t 173,463 97.3




20054 1) 1—R AV TE A

No. HaH HEF—L {3 A () B4 (%)
1 3A138 P ) 5,380 88.6
2 3A268 AR 3,877 93.9
3 4H9H = 9,702 92.7
4 4816H 2/ 10,753 98.0
5 4828H AKX 11,779 925
6 5H4H JUE 14,317 97.7
7 5868 BEE 12,360 96.9
8 5H828H NS 10,851 96.7
9 5827H AR 12,354 97.0
10 7868 = 12,617 95.6
11 78178 2HE 17,583 96.5
12 8H20H Gz 15,488 95.8
13 8A27H FE 13,737 97.8
14 9R10H CKRx 13,271 97.8
15 9A24R /N 10,473 98.1
16 10A15H RIREV 7,798 99.2
17 104228 HEEFM 7,052 101.0
18 118128 = 7,470 98.3
19 118238 FERIR 7,458 95.0
20 12H3H AR 5,723 98.2

a&t 210,043 96.4




